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INSTRUCTIONS: 1) Attempt all 5 compulsory questions in this question paper.
2) Use of Scientific calculator is allowed.
3) Statistical Tables ard graph paper will be provided on request
Q1 a) Explain the meaning of population survey giving illustration. 8
b) Write a note on, ‘Simple Random Sampling’. 6
OR
Q1 a) Whatis Stratified Sampling give its advantages. 8
b) Define estimator of population total show that it is an unbiased estimator 6
Q2 a) State the difference between Sampling and Non- sampling Errors. 8
b) prove that - 6
— 52
VPwor= Yy (1-f)
OR
Q2 a) Whatis systematic sampling? Compare it with simple random sampling. 7
b) What is hypothetical or imaginary population? Give its advantages. 7
Q3 a) For studying a characteristic the observations of a population are 5,9,11,19. How 10
many random sample of size 2 without replacement can be taken from it?
Making a list of all the samples verify the following results.
— ' —_ 2
) E@ =Y i) E(?) = §%ii) V§ ===
b) If all possible simple random samples of 3 units without replacement taken from 4
a population of size N is 210, Find the population size N.
: OR
Q3 a) Give the difference between sample survey and population survey. 6
b) The observations of the population are: 10, 14, 20, 36, Taking all possible 8
sample of size 2 with replacement, verify —
i. Ep) =Y
i V@) =T
Q4 a) Explain the following: 6
1. Vital statistics,
ii. Infant mortality rate.
b) Compute the crude and standardized death rates of the two population A andB 8

from the following data.

Age Group A B
(vears) | Population | No. of Deaths | Population | No. of Deaths
Below 5 5000 150 2000 50
5-15 8000 120 3000 36
15-50 12000 120 4000 40
Above 50 3000 75 3000 84




Q4 2

Q5 a)
b)

Q5 a)

b) Fill in the blanks of the following table which are marked with question mark:

OR

Explain, giving assumption, description and the construction of a Life Table.

With usual notations prove that:

: _ . - dxtpn-1
D nPx = Px Pxy1-Pxyo- Px+n-1 ll)”gx_ /
X
Explain the following terms:
i) Crude Death Rate. ii) Standardized Death Rate

Calculate CBR ,GFR ,ASFR and TFR for the following Data.

Age Group | Female Population | Number of live Birth’s
(in 000’s)
15-19 48 1200
20-24 45 5130
25-29 42 6300
30-34 39 4290
35-39 36 2880
40-44 33 990
45-49 27 108
OR

Explain the following terms:
i) General Fertility Rate ii} Total fertility Rate.

Age x. Ix dx |gx |Px | Lx| Tx el
35 9345 7 1707 7 163819 ?
36 9243 114917 | 72 | ? ? ?
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Gurell w3y | 2oflalldl ) (in 000°s) | @l % -4l-ll alvauiil
15-19 48 1200
20-24 45 5130
25-29 42 6300
30-34 39 4290
35-39 36 2880
40-44 33 990
45-49 27 108
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Gu2 X Ix |dx |gx!Px|Lx| Tx ey

35 9345 | ? | 2] ? | 7?7 1163819

36 9243 11491 7 | ? | 7 ? ?




